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Vi = 306. 17 X 0.10 = 30.62 m
TRAEFR LY
V2 = 0. 056 X 9.50 = 0.53 m
> = 31.15 m
TRAEFR LY
vV = 0. 532 X 9.50 = 5.05 m
TRAER LY
V = 0.373 X 9.50 = 3.54 m
V = (31.15 + 5.05 ) — 3.54 =+ 0.90 = 32.27 m
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600

30.6

0.5

5.1

3.5

32.3




HEKMEY) LA E

i

UPRAR

(G300A) L=
—HIREE
U4 7 LHE,

FrX &Y
9.50

9. 50

9.5




BB M ¥ G 300A (10m%4 )

H&BTEIE (G300A)
ZERBEVSIVLER

520
55 300

‘ % GL—F %
. | | (T-25. )L FEE)
I ¥
o 8 12 280 Hzo
H U EILZILA:3)
s i oo Y—+
= (18-8-25BB)
8 B,
- EBEHF (RC-40)
480
580
680
£ PR 7 H X (VAR '
TR T (7 N= 10.00 + 1.00 = 10.00 H 10. 00
(G300A)
#EALZL V= 0.48 X 0.02 X 10.0 = 0.10 m 0.10
(1:3)
Mg 7 U—k V= 0.58 X 0.10 X 10.0 = 0.58 m 0.58
[A] [ A= 0.10 X 10.00 X 2.0 = 2.00 m 2.00
FLRE A A= 0.68 X 10.0 = 6.80 n 6. 80

(t=100 RC-40)

L IE A= 0.68 X 10.0 = 6.80 m 6. 80
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A2 = 0.60 X 9.50 = 5.70 5.7
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NO. 0 0. 00 4. 20
NO. 1 20. 00 4. 20 4. 20 84. 00
NO. 2 20. 00 4. 80 4.50 90. 00
NO. 3 20. 00 5. 90 5.35 107. 00
&t 60. 00 281. 00
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Al= 2.0 X 2.1 = 4.20 m

A2= 2.0 X 1.2 = 2.40 m

A3= 1.2 X 1.2 =+ 2 = 0.72 m

M= 5.2 X 0.1 = -0.52 m

KA R Sy

= = 6.80 m

Vi=  6.80 X 3.0 = 20.40 m 20. 40
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